Linkage disequilibrium between the significant markers on chromosome 1A. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart, treemap chart, square

Description automatically generated] 






Linkage disequilibrium between the significant markers on chromosome 1B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: A picture containing treemap chart

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 1D. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Shape, square

Description automatically generated with medium confidence] 






Linkage disequilibrium between the significant markers on chromosome 2A. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart

Description automatically generated with low confidence]






Linkage disequilibrium between the significant markers on chromosome 2B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart, bar chart

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 2D. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Square

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 3B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart

Description automatically generated with medium confidence]






Linkage disequilibrium between the significant markers on chromosome 4A. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart, treemap chart, square

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 4B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Shape, square

Description automatically generated] 






Linkage disequilibrium between the significant markers on chromosome 4D. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: A picture containing treemap chart

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 5A. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart

Description automatically generated]






Linkage disequilibrium between the significant markers on chromosome 5B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Square

Description automatically generated with low confidence] 






Linkage disequilibrium between the significant markers on chromosome 5D. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: A picture containing treemap chart

Description automatically generated] 






Linkage disequilibrium between the significant markers on chromosome 6B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart

Description automatically generated] 






Linkage disequilibrium between the significant markers on chromosome 6D. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Square

Description automatically generated with low confidence] 






Linkage disequilibrium between the significant markers on chromosome 7A. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: Chart

Description automatically generated] 







Linkage disequilibrium between the significant markers on chromosome 7B. The standardized disequilibrium coefficients (D’) are shown in the lower-left matrix and correlations between alleles at the two marker loci (r2) are shown in the upper-right matrix. [image: A screenshot of a computer

Description automatically generated with low confidence]
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